


 



 



Objective Paper

1. PkkSFks lSfud fo'o [ksy vDVwcj] 2007 esa Hkkjr esa [ksys x, Fks

(a) gSnjkckn esa (b) psUubZ esa

(c) vgenkckn esa (d) y[kuÅ esa

2. lkfgR; ds {ks= esa 2007 ds fy, laLÑfr iqjLdkj fuEufyf[kr esa

ls fdldksa feyh gS\

(a) T;ksRLuk dfyrk (b) ds-,- 'kkth

(c) ds-ih- jsth (d) fctf;uh lRiFkh

3. laln }kjk fdlh jkT; dh fo/kku ifj"kn~ fdldh flQkfj'k ij

lekIr dh tk ldrh gS

(a) jk"Vªifr

(b) jkT;iky

(c) jkT; fo/kku lHkk

(d) mi;qZDr esa ls dksbZ Hkh ugha

4. ok;qe.My dh fuEufyf[kr ijrksa esa ls ìFoh ds fudVre dkSu&lh
gS\
(a) e/;eaMy (b) ckgeaMy
(c) lerkieaMy (d) {kksHkeaMy

5. fo'o 'krjat izfr;ksfxrk fuEufyf[kr esa ls fdlus thrh gS]

ftldk vafre nkSj 29 flrEcj] 2007 dks esfDldks flVh esa gqvk

Fkk\

(a) ihVj ysdks

(b) fo'oukFku vkuan

(c) CykfMehj ØSfEud

(d) mi;qZDr esa ls dksbZ Hkh ugha

6. lwph I ¼foVkfeuksa½ dks lwph II ¼ghurktU; jksxksa½ ds lkFk lgh

lqesfyr dhft, vkSj lwfp;ksa ds uhps fn, x, dwV dk iz;ksx dj

lgh mÙkj pqfu,

lwph&I lwph&II

A. foVkfeu A 1. iz.kk'kh jDrkYirk

B. foVkfeu D 2. gheksQhfy;k

C. foVkfeu B
12

3. thjksIFkSfyE;k

D. foVkfeu K 4. fjdsV~l
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1. The Forth Military World Games were held in

October, 2007 in India at

(a) Hydrabad (b) Chennai

(c) Ahmedaba (d) Lucknow

2. Who of the following received the Sanskriti Award

for 2007 in the field of literature?

(a) Jyotshna Kalita (b) K.A. Shaji

(c) K.P. Reji (d) Bijayini Satpathy

3. The legislative Council in a state can be abolished

by the parliament on the recommendation of

(a) The President

(b) The Governor

(c) The State Legislative Assembly

(d) None of the above

4. Which of the following atmospheric layers lies

closest to the Earth?

(a) Mesosphere (b) Exosphere

(c) Stratosphere (d) Troposphere

5. Who of the following won the World Chess

Championship, the final round for which was held

in Mexico City on September 29, 2007 ?

(a) Peter Leko

(b) Viswanathan Anand

(c) Vladimir Kramnik

(d) None of the above

6. Match the List-I (Vitamins) with List-II

(Deficiency diseases) and select the correct anser

using codes given below the list

List-I List-II

A. Vitamin A 1. Pernicious anaemia

B. Vitamin B 2. Haemophilia

C. Vitamin B
12

3. Xerophthalmia

D. Vitamin K 4. Rickets
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dwV

A           B          C           D

(a) 2            3           1            4

(b) 3            4           1            2

(c) 4            2           1            3

(d) 1            2           4            3

7. vEyksa dk izfrjks/k djus okyh LVhy dh fdLe gS

(a) dkcZu LVhy (b) ekWfyCMsue LVhy

(c) fudy LVhy (d) LVsuysl LVhy

8. /kkrq,¡ Å"ek vkSj fo|qr dh lwpkyd gksrh gS flok;

(a) ,syqfefu;e ds (b) vk;ju ds

(c) fcLeFk ds (d) flYoj ds

9. Hkkjr dk lcls cM+k ftyk fuEufyf[kr esa ls dkSu&lk gS\
(a) ysg (b) ckM+esj
(c) dPN (d) cLrj

10. Hkkjr esa fufeZr igyh felkby cksV dk uke gS
(a) foHkwfr (b) ty&eqnzk
(c) Hkqtax (d) eRL;

11. 13osa foÙk vk;ksx dk v/;{k fdls fu;qDr fd;k x;k gS\
(a) fot; ,y- dsydj (b) fcey tkyku
(c) ch-ds- prqosZnh (d) jkds'k eksgu

12. Hkkjr esa fdrus cM+s vkSj NksVs iÙku gS\
(a) 12 cM+s vkSj 184 NksVs
(b) 16 cM+s vkSj 180 NksVs
(c) 20 cM+s vkSj 175 NksVs
(d) 27 cM+s vkSj 190 NksVs

13. fuEufyf[kr esa ls dkSulk ;w-,u- dh ,stsUlh ugha gS\

(a) [kk| vkSj Ñf"k laxBu

(b) varjkZ"Vªh; jskM ØkWl lfefr

(c) varjkZ"Vªh; eqnzk dks"k

(d) varjkZ"Vªh; Jfed la?k

14. vc ldy ?kjsyw mRikn dk vf/kdre fgLlk vkrk gS

(a) fofuekZ.k ls (b) Ñf"k ls

(c) lsokvksa ls (d) i'kq/ku ls

Codes

A           B          C           D

(a) 2            3           1            4

(b) 3            4           1            2

(c) 4            2           1            3

(d) 1            2           4            3

7. The variety of steel which is resistant to acids is

(a) carbon steel (b) molybdenum steel

(c) nickel steel (d) stainless steel

8. Metals are good conductors of heat and electricity

except

(a) aluminium (b) iron

(c) bismuth (d) silver

9. Which of the following is India's largest district ?

(a) Leh (b) Barmer

(c) Kutch (d) Baster

10. The name of the first missile boat built in India is

(a) Vibhuti (b) Jal-mudra

(c) Bhujanga (d) Matasya

11. Who has been appointed as the Chairman of the

13th Finance Commission?

(a) Vijaya L. Kelkar (b) Bimal Jalan

(c) B.K. Chaturvedi (d) Rakesh Mohan

12. How many major and minor ports does India have?

(a) 12 major and 184 minor

(b) 16 major and 180 minor

(c) 20 major and 175 minor

(d) 27 major and 190 minor

13. Which of the following is not an agency of the

U.N.?

(a) Food and Agricultural Organisation

(b) International Committee of the Red Cross

(c) International Monetary Fund

(d) International Labour Organisation

14. The maximum share of the Gross Domestic
Product now comes form
(a) Manufaturing (b) Agriculature

(c) Services (d) Livestock
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15. ukbu fMxzh pSuy vyx djrh gS

(a) baXyS.M vkSj Ýkal dks

(b) Hkkjr vkSj Jhyadk dks

(c) y{}hi vkSj fefudkW; dks

(d) mÙkj vaMeku vkSj nf"k.k vaMeku dks

16. Vsful esa xzSaM LySe dk vFkZ gS fd f[kykM+h dks thruk gksrk gS

(a) vkWLVªsfy;kbZ vksiu] Ýsap vksiu vkSj ;w-,l- vksiu

(b) vkWLVªsfy;kbZ vksiu] Ýsap vksiu vksj foacyMu

(c) vkWLVªsfy;kbZ vksiu] ;w-,l-vksiu vksj foacyMu

(d) vkWLVªsfy;kbZ vksiu] Ýsap vksiu] ;w-,l-vksiu vkSj foacyMu

17. ^czso foaM* uke dh Øwt felkby fuEufyf[kr esa ls fdl ns'k }kjk

cukbZ xbZ gS\
(a) btjkby (b) :l
(c) phu (d) rkboku

18. o"kZ 2007 ds fy, lkfgR; dk ukscsy iqjLdkj fuEufyf[kr esa ls
fdldksa fn;k x;k Fkk\
(a) Mksfjal ysflax
(b) xsjgkMZ ,VZy
(c) fyvksukMZ gqjfoDt
(d) vWfyoj fLEFkht

19. ^Hkkjrh; okf.kT; vkSj m|ksx eaMy ifjla?k* (FICCI) dh
LFkkiuk fdl o"kZ gwbZ Fkh
(a) 1911 (b) 1927
(c) 1947 (d) 1950

20. fdl lekpkj i= dk 'kh"kZ okD;& ßtuZfyT+e vkWQ djstsÞ gS\

(a) n VkbEl vkWQ bafM;k

(b) n fgUnw

(c) n fgUnqLrku VkbEl

(d) n bafM;u ,Dlizsl

21. ß,tysl ckWMh] Vkbeysl ekbaMÞ uked iqLrd fdlus fy[kh gS
(a) nhid pksaiM+k (b) dkt+h ut+:y] bLyke
(c) xhrk egsrk (d) foØe lsB

15. Nine Degree Channel separates

(a) England and France

(b) India and Sri Lanka

(c) Lakshadweep and Minicoy

(d) North Andaman and South Andaman

16. Grand Slam in Tennis means a player has to win

(a) Austrialian Open, French Open and U.S. Open

(b) Austrialian Open, French open and Wimbledon

(c) Austrialian Open, U.S. Open and Wimbledon

(d) Austrialian Open, French Open, U.S. Open

and Wimbledom

17. The cruise missile named as 'Brave Wind' has been

developed by which of the following countries?

(a) Israel (b) Russia

(c) China (d) Taiwan

18. Who of the following was awarded to Nobel Prize

for Literature for the year 2007 ?

(a) Doris Lessing

(b) Gerhard Ertl

(c) Leaonard Hurwicz

(d) Oliver Smithies

19. The 'Federation of Indian  Chambers of Commerce

and Industry' (FICCI) was founded in the year

(a) 1911 (b) 1927

(c) 1947 (d) 1950

20. Which newspaper has the motto Journalism of

Courage?

(a) The Times of India

(b) The Hindu

(c) The Hindustan Times

(d) The Indian Express

21. The book 'Ageless Body, Timeless Mind' has been

written by

(a) Deepak Chopra (b) Kazi Nazrul Islam

(c) Gita Mehta (d) Vikram Seth

 



SSC JEn - 2008   |  Objective Paper             Electrical Engineering

18  |           Engineering Career Tutorial (ECT)

22. Hkkjr vkSj Jhyadk ds chp ikd [kkM+h dks eUukj dh [kkM+h ds
lkFk tksM+us ds fy, izLrkfor lsrqleqnze ukS&ifjogu ugj ifj;kstuk
iwjh gksus ij tgkt+ksa dh ;k=k ds le; esa cpr dj nsxh

(a) 100 ls 154 leqnzh ehyksa rd

(b) 170 ls 227 leqnzh ehyksa rd

(c) 254 ls 424 leqnzh ehyksa rd

(d) 450 ls 514 lewnzh ehyksa rd

23. uo fodflr lwij dEI;wVj dks ,e-oh-,d- 1000 uke fn;k
x;k gS
(a) :l }kjk (b) ;w-,l-,- }kjk
(c) tkiku }kjk (d) Hkkjr }kjk

24. dkSu&lk ns'k HkkSxksfyd ǹf"V ls mÙkj vejhdk esa fdUrq jktuhfrd
n`f"V ls ;wjksi dk vax gS\
(a) dSujh vkbySM~l (b) vkblySaM
(c) xzhuySaM (d) D;wck

25. tokgjyky usg: 'kgjh uohuhdj.k fe'ku (JLNURM) ds
varxZr fdrus 'kgjksa dks 'kkfey djus dk izLrko gS\
(a) 30 (b) 52
(c) 63 (d) 98

26. ,sfyosVjksa esa vkerkSj ij iz;ksx dh tkus okyh eksVj gS
(a) rqY;dkfydk eksVj
(b) lkoZf=d eksVj
(c) izsj.k eksVj
(d) izfr"VEHk eksVj

27. fuEufyf[kr esa ls dkSu lk osYMu milk/ku ugha gS\
(a) dsfcy
(b) bysDVªksM gksYMj
(c) gLr j{kd ¼gSaM LØhu½
(d) nLrkus

28. AC osYMu lsVksa ds fy, iz;qDr VªkalQkWeZj gksrk gS
(a) cwLVj izdkj dk
(b) mPpk;h izdkj dk
(c) vipk;h izdkj dk
(d) le orZu vuqikr izdkj dk

22. The Sethusamundram Shipping Canal Project

proposing to link the Palk Bay with the Gulf of

Mannar between India and Sri Lanka, on

completion, would result in the saving of salling time

for the ships to the extent of

(a) 100 to 154 Nautical Miles

(b) 170 to 227 Nautical Miles

(c) 254 to 424 Nautical Miles

(d) 450 to 514 Nautical Miles

23. MVS-1000 is the name give to a newly developed

supercomputer by

(a) Russia (b) U.S.A.

(c) Japan (d) India

24. Which country is geographically in North America

but politically a part of Europe ?

(a) Canary Islands (b) Iceland

(c) Greenland (d) Cuba

25. How many cities are proposed to be covered under

the Jawaharlal Nehru Urban Renewal Mission

(JLNURM)?

(a) 30 (b) 52

(c) 63 (d) 98

26. Motor used for elevators is generally

(a) synchronous motor

(b) universal motor

(c) induction motor

(d) reluctance motor

27. Which of the following is not a welding accessory?

(a) cable

(b) electrode holder

(c) hand screen

(d) gloves

28. The transformer used for AC welding sets is

(a) Boster type

(b) Step up type

(c) Step down type

(d) Equal turn ratio type
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29. fjys dke djrk gS
(a) nks"k foyxu dk
(b) nks"k lalwpu dk
(c) nks"k fuokj.k dk
(d) mijksDr lHkh dk

30. HRC ¶;wt loksZÙke j{kk miyC/k djrk gS
(a) [kqys ifjiFk ds izfr
(b) vf/kyksM ds izfr
(c) foijhr /kkjk ds izfr
(d) y?kqiFk ds izfr

31. py yksg (M.I.) eki;a= dk iSekuk gksrk gS
(a) ,d leku (b) tfVy
(c) jSf[kd (d) mijksDr lHkh

32. vkS|ksfxd yksMksa dk 'kfDr xq.kd gksrk gS] izk;%
(a) ,dd (b) i'pxkeh
(c) vxzxkeh (d) 'kwU;

33. ek¡x xq.kd dk eku gS
(a) ,d ls de (b) ,d ls T;knk
(c) ,d ds cjkcj (d) 'kwU;

34. iw.kZ yksM dh n'kk esa izsj.k eksVj dk liZ.k gksrk gS] yxHkx
(a) 0.1 (b) 0.03
(c) 0.2 (d) 0.8

35. Nr ds ia[kksa esa iz;qDr eksVj gksrh gS
(a) izfrjks/kh foHkDr jksVj eksVj
(b) la/kkfj= izorhZ eksVj
(c) la/kkfj= izorhZ la/kkfj= pkfyr eksVj
(d) lihZ oy; eksVj

36. MkW;useksehVj izdkj dk okVehVj vuqfØ;k djrk gS
(a) lfØ;k 'kfDr ds vkSlr eku ds lkFk
(b) izfr?kkrh 'kfDr ds vkSlr eku ds lkFk
(c) lfØ; 'kfDr ds f'k[kj eku ds lkFk
(d) izfr?kkrh 'kfDr ds f'k[kj eku ds lkFk

37. fuEufyf[kr esa ls dkSu&lk ehVj lekdyu izdkj dk eki;a= gS\
(a) ,sehVj (b) oksYVehVj
(c) okVehVj (d) ÅtkZekih

29. A relay performs the function is

(a) Fault isolation

(b) Fault detection

(c) Fault prevention

(d) All the above

30. HRC fuse provides best protection against

(a) Open circuit

(b) Overload

(c) Reverse current

(d) Short circuit

31. The scale of moving iron (M.I.) instrument is

(a) Uniform (b) Cramped

(c) Linear (d) All the above

32. The power factor of industrial loads is generally

(a) Unity (b) Lagging

(c) Leading (d) Zero

33. The value of demand factor is

(a) Less than one (b) Greater than one

(c) Equal to one (d) Zero

34. The slip of an induction motor under full load

condition is about

(a) 0.1 (b) 0.03

(c) 0.2 (d) 0.8

35. The motor used in ceiling fans is

(a) Resistance split phase motor

(b) Capacitor start motor

(c) Capacitor start capacitor run motor

(d) Slip ring motor

36. A Dynamometer type wattmeter responds to the

(a) Average value of active power

(b) Average value of reactive power

(c) Peak value of active power

(d) Peak value of reactive power

37. Which of the following meters is an integrating type

instrument ?

(a) ammeter (b) voltmeter

(c) wattmeter (d) energy meter
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38. cSVhg vkos'ku ds fy, fuEufyf[kr esa ls dkSu ls DC tujsVj
dk iz;ksx fd;k tkrk gS\
(a) DC Js.kh tujsVj
(b) DC ik'oZiFk tujsVj
(c) y?kq ik'oZiFk feJ dqaMfyr tujsVj
(d) nh?kZ ik'oZiFk feJ dqaMfyr tujsVj

39. DC Js.kh eksVj dh 'kwU; yksM pky gksrh gS
(a) cgqr /kheh (b) e/;e
(c) cgqr rst (d) /kheh

40. ifjiFk oksYVrk esa ifjorZu dk fojks/k djus okyk ifjiFk dk
?kVd gS
(a) izfrjks/k (b) /kkfjrk
(c) izsjdRe (d) mijksDr lHkh

41. Js.kh vuquknh ifjiFk dk vk'k; gS
(a) 'kwU; 'kfDr xq.kd vkSj vf/kdre /kkjk
(b) ,dd 'kfDr xq.kd vkSj vf/kdre /kkjk
(c) ,dd 'kfDr xq.kd vkSj U;wure /kkjk
(d) 'kwU; 'kfDr xq.kd vkSj U;wure /kkjk

42. py yksg izdkj ds ,sehVj ls ,d /kkjk i = (10 + 10 sin t)

,sehVj xqtkjh xbZ gSA mldk ikB~;kad gksxk
(a) 'kwU; (b) 10 A

(c) 150A (d) 2A

43. ,d DC ,sehVj dk izfrjks/k 0.1  vkSj /kkjk dk ifjlj
0 – 100 AgSA ;fn ifjlj dk foLrkj 0 – 500 Ard djuk
gks] rks ehVj dks ik'oZiFkh; izfrjks/k dh vko';drk gksxh
(a) 0.010  (b) 0.011 
(c) 0.025  (d) 1.0 

44. fdl izdkj ds osYMu esa fi?kyh gqbZ /kkrq ds dq.M dk iz;ksx fd;k
tkrk gS\
(a) oS|qr /kkrqey (b) fuefTtr vkdZ
(c) MIG (d) TIG

45. lknk vkSj VDdj ¼ewB½ osYMksa dk iz;ksx yxHkx fdruh eksVkbZ rd
ds nzO;ksa ij fd;k tk ldrk gS
(a) 25 feeh (b) 40 feeh
(c) 50 feeh (d) 70 feeh

38. For battery charging, which of the following DC

generators is used ?

(a) DC series generator

(b) DC shunt generator

(c) short shunt compound generator

(d) long shunt compound generator

39. The no load speed of DC series motor is

(a) Very small (b) Medium

(c) Very high (d) Small

40. A circuit component that opposes the change in

circuit voltage is

(a) resistance (b) capacitance

(c) inductance (d) all the above

41. A series resonant circuit implies

(a) zero power factor and maximum current

(b) unity power factor and maximum current

(c) unity power factor and minimum current

(d) zero power factor and minimum current

42. A current i = (10 + 10 sin t) amperes is passed

through moving iron type ammeter. Its reading will

be

(a) zero (b) 10 A

(c) 150A (d) 2A

43. A DC ameter has resistance of 0.1  and current

range is 0 – 100 A. If the range is to be extended

to 0 – 500 A, then meter requires shunt resistance

of

(a) 0.010  (b) 0.011

(c) 0.025  (d) 1.0 

44. In which type of welding is a pool of molten metal

used ?

(a) Electroslag (b) Submerged arc

(c) MIG (d) TIG

45. Plan and butt welds may be used on materials upto

approximately

(a) 25 mm thick (b) 40 mm thick

(c) 50 mm thick (d) 70 mm thick
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46. vkdZ osYMu esa] bysDVªksM vkSj dk;Z ds chp vkdZ cukbZ tkrh gS

(a) /kkjk ds izokg }kjk

(b) oksYVrk }kjk

(c) nzO; dh eksVkbZ }kjk

(d) lEidZ izfrjks/k }kjk

47. Egks fjys dk iz;ksx fd;k tkrk gS
(a) yEch lapj.k ykbu ds fy,
(b) e/;e yEckbZ okyh ykbu ds fy,
(c) NksVh yEckbZ okyh ykbu ds fy,
(d) mijksDr lHkh ds fy,

48. vkdZ rkiu ds fy, bysDVªksM cuk, tkrs gS
(a) dkWij ds (b) ,syqfefu;e ds
(c) xzsQkbV ds (d) ACSR pkyd ds

49. vlefer nks"k esa rhu Qst dk lcls lkekU; izdkj gS

(a) ,dy ykbu esa Hkwfe

(b) ykbu ls ykbu

(c) nksgjh ykbu ls Hkwfe

(d) rhu Qst

50. ;fn iznk; vko`fÙk c<+ tk,] rks Rokfpd izHkko
(a) ?kVrk gS (b) c<+rk gS
(c) mruk gh jgrk gS (d) buesa ls dksbZ ugha

51. PN taD'ku gksrk gS
(a) ,d fn"Vdkjh (b) ,d izo/kZd
(c) ,d fo|qr&jks/kh (d) ,d nksyd

52. esxj ,d eki;a= gS
(a) cgqr de izfrjks/k dks ekius ds fy,
(b) fo|qr jks/ku izfrjks/k dks ekius ds fy,
(c) dqaMyh ds Q dks ekius ds fy,
(d) dqaMyh ds izsjdRo dks ekius ds fy,

53. vkdZ ySEi dke djrk gS
(a) U;wu i'pxkeh 'kfDr xq.kd ij

(b) mPp vxzxkeh 'kfDr xq.kd ij

(c) ,dd 'kfDr xq.kd ij

(d) 'kwU; 'kfDr xq.kd ij

46. In arc welding, arc is created between the

electrode and work by

(a) flow of current

(b) voltage

(c) materail thickness

(d) contact resistance

47. Mho relay is used to protect

(a) long transmission line

(b) medium length line

(c) short length line

(d) all the above

48. For arc heating, the electrodes are made of

(a) Copper (b) Aluminium

(c) Graphite (d) ACSR conductor

49. The most common type of three phase in

unsymmetrical fault is

(a) single line to ground

(b) line to line

(c) double line to ground

(d) three phase

50. If supply frequency increases, the skin effect is

(a) Decreased (b) Increased

(c) Remains same (d) None of these

51. A PN junction is

(a) a rectifier (b) an amplifier

(c) an insulator (d) an oscillator

52. Megger is an instrument is measures

(a) a very low resistance

(b) insulation resistance

(c) q of coil

(d) inductance of coil

53. Arc lamp operates at

(a) low lagging power factor

(b) high leading power factor

(c) unity power factor

(d) zero power factor
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54. fp= esa iznf'kZr ifjiFk esa V dk eku gS

– +
3V

V3A

(a) 1 V (b) 2 V
(c) 3 V (d) 4 V

55. nks rkid] izR;sd 1000 W, 250 V ij fu/kkZfjr] 250 V, 50

Hz AC esUl ds lkFk Js.kh esa la;ksftr fd, x, gSA iznk; ls

yh tkus okyh dqy 'kfDr gksxh

(a) 1000 okV (b) 500 okV

(c) 250 okV (d) 2000 okV

56. fgLVsjsfll ik'kk dk {ks=Qy fu:fir djrk gS

(a) rkez gkfu

(b) Hkaoj /kkjk gkfu

(c) ijkoS|qr gkfu

(d) fgLVsjsfll gkfu

57. L
1
 = L

2
 = 0.6 H okyh nks ;qfXer daqMfy;ksa dk ;qXeu xq.kkad

K = 0.8 gSA orZu vuqikr
1

2

N

N  gS

(a) 4 (b) 2

(c) 1 (d) 0.5

58. yksM dks vf/kdre 'kfDr varj.k ds fy, n{krk gksrh gS

(a) 25% (b) 50%

(c) 75% (d) 100%

59. rqY;dkfydk eksVj esa U;wure vkesZpj /kkjk curh gS

(a) 'kwU; 'kfDr xq.kd ij

(b) vxzxkeh 'kfDr xq.kd ij

(d) i'pxkeh 'kfDr xq.kd ij

(d) ,dy 'kfDr xq.kd ij

54. The value of V in the circuit shown in the given

figure is

– +
3V

V3A

(a) 1 V (b) 2 V

(c) 3 V (d) 4 V

55. Two heaters rated at 1000 W, 250 V each are

connected in series across a 250 V, 50 Hz AC

mains. The total power drawn from the supply

would be

(a) 1000 watt (b) 500 watt

(c) 250 watt (d) 2000 watt

56. Area of hysteresis loop represents

(a) copper loss

(b) eddy current loss

(c) dielectric loss

(d) hysteresis loss

57. Two coupled coils with L
1
 = L

2
 = 0.6 H have a

coupling coefficient of K = 0.8. The turns of
1

2

N

N  is

(a) 4 (b) 2

(c) 1 (d) 0.5

58. The efficiency for maximum power transfer to the

load is

(a) 25% (b) 50%

(c) 75% (d) 100%

59. In synchronous motor, minimum armature current

occurs at

(a) Zero power factor

(b) Leading power factor

(c) Lagging power factor

(d) Unity power factor
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60. rhoz xfr izR;kofrZ=ksa esa vkerkSj ij gksrk gS

(a) {ks= daqMyh /kzqo jksVj

(b) csyukdkj jksVj

(c) {ks= daqMyh /kzqo vkSj csyukdkj nksuksa jksVj

(d) mijksDr esa ls dksbZ ugha

61. izR;kofrZ= dh {ks= dqaMyh esa t:jr gksrh gS

(a) DC iznk; dh

(b) AC iznk; dh

(c) Lianeku DC dh

(d) mijksDr esa ls fdlh ,d dh

62. tc fdlh izsj.k eksVj esa jksVj rkez gkfu 600 W gks vkSj liZ.k

3% gks rc jksVj fuos'k gksrk gS

(a) 18 kW (b) 200 kW

(c) 20 kW (d) 25 kW

63. varjk/kzqo mfí"V gksrs gS

(a) eksVj dh pky c<+kus ds fy,

(b) fojks/kh fo|qr&okgd cy c<+kus ds fy,

(c) eq[; {ks= dks lqn`<+ djus ds fy,

(d) fn~difjorZd esa LQ`fyaxu de djus ds fy,

64. VªkaQkWeZj esa laj{kh dk mís'; gksrk gS

(a) dqaMyh dks 'khry djuk

(b) VªkalQkWeZj esa ueh dks jksduk

(c) izkFkfed vkSj f}rh;d dqaMyh ds y?kqiFku ds jksduk

(d) rsy ds ladqpu vkSj izlkj dks laHkkyuk

65. 'kfDr VªkalQkWeZj ds ekeys esa fu/kkZfjr /kkjk ds :i esa 'kwU; Hkkj

èkkjk gksrh gS

(a) 10 ls 20% (b) 2 ls 6%

(c) 15 ls 30% (d) 30 ls 50%

66. ;fn iw.kZ yksM ds
7

8
ij VªaklQkWeZj dh rkez gkfu 4900 W gks

rks mlds iw.kZ ij rkez gkfu gksxh

(a) 5600 W (b) 6400 W

(c) 373 W (d) 429 W

60. High speed alternators usually have

(a) Salient pole rotor

(b) Cylindrical rotor

(c) Both salient pole and cylindrical rotor

(d) None of the above

61. The field winding of an alternator requires

(a) DC supply

(b) AC supply

(c) Pulsating DC

(d) Any one of the above

62. The rotor input when rotor copper loss in an

induction motor is 600 W and slip is 3% is

(a) 18 kW (b) 200 kW

(c) 20 kW (d) 25 kW

63. Inter poles are meant for

(a) increasing the speed of the motor

(b) increasing the main field

(c) strengthening the main field

(d) reducing sparking at the commutator

64. The purpose of the conservator in a transformer is

(a) to cool the winding

(b) to prevent moisture in the transformer

(c) to prevent short circuit of primary and

secondary winding

(d) to take up contraction and expansion of oil

65. In case of a power transformer, the no load current

in terms of rated current is

(a) 10 to 20% (b) 2 to 6%

(c) 15 to 30% (d) 30 to 50%

66. If copper loss of transformer at
7

8
th full load is

4900W, then its full load copper loss would be

(a) 5600 W (b) 6400 W

(c) 373 W (d) 429 W

 



SSC JEn - 2008   |  Objective Paper             Electrical Engineering

24  |           Engineering Career Tutorial (ECT)

1 A 2 D 3 C 4 D 5 B

6 B 7 D 8 C 9 C 10 A

11 A 12 A 13 B 14 B 15 C

16 B 17 D 18 A 19 B 20 D

21 A 22 * 23 A 24 C 25 D

26 C 27 A 28 C 29 B 30 B

31 B 32 B 33 A 34 B 35 C

36 A 37 D 38 B 39 C 40 B

41 B 42 C 43 C 44 A 45 A

46 A 47 A 48 C 49 A 50 B

51 A 52 B 53 A 54 C 55 B

56 D 57 C 58 B 59 D 60 B

61 A 62 C 63 D 64 B 65 B

66 B

Answer Key
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Solution
34. (b)

Slip of induction motor varies between 1% to 3%

i.e. 0.01 to 0.03.

41. (b)

At resonance,

= 0

1

LC
 

and X
L

= X
C

Then, Impedance,

Z = 2 2
L CR (X X ) 

 Z = R

So, there is unity power factor and current is

maximum.

42. (c)

i
reading

= I
iron

=
2 10

10
2

 
  

= 150A

43. (c)

m = ed

m

I 500
5

I 100
 

R
sh

= mR

m 1

=
0.1 0.1

5 1 4




= 0.025 

49. (a)

Single line to ground fault most common in India

about 70%.

50. (b)

Formula of skin depth is given as

 =
0 r

1

f  

 , , skin effect 

54. (c)

Let Voltage at node A be V
A

VA

1 1

3V

1
3A

– +

Applying Nodal analysis at A

3 = A AV V 3

1 1




2V
A
 + 3 = 3

V
A

= 0

So, current,

I = AV 3 0 3
3A

1 1

 
 

V = 3 × 1 = 3V

55. (b)

Rating of heaters = (1000W, 250 V)

R =
2V

P

=
2(250)

62.5
1000

 

I

R = 62.51  R = 62.52 

250 V, 50 Hz

Total R = R
1
 + R

2

= 62.5 + 62.5 = 125 

Power drawn

P =
2V

R

=
2(250)

500 watt
125


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57. (c)

we know that

 L =
2

0µ N A

l

 L N2

1

2

L

L =
2
1
2
2

N

N


1

2

N

N =
1

2

L

L

=
0.6

1
0.6


58. (b)

For maximum power transfer to load

Z
L

= Z
S

or R
L

= R
S

RL

A

B

Rs
I

V

I =
s L s

V V

R R 2R




P
in

= V.I = I(R
s
 + R

L
).I

= I2(R
s
 + R

L
) = I2(2R

s
)

P
out

= P
load

 = I2R
L

= I2R
s

 =
2

out s
2

in s

P I (R )

P I (2R )


=
1

0.5
2


% = 50%

62. (c)

Rotor input = Air Gap Power P
q

=
Rotor Cu loss

s
=

600
20 kW

0.03


66. (b)

Let full load copper loss of transformer be x watt.

Then
2

7
x

8
      = 4900

As Cu loss  I2

x =
64

4900 6400 watt
49
 


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